



Solution of System of Simultaneous linear first order differential equations with constant coefficients.

1) Solve: $\frac{dx}{dt} - y = t$; $\frac{dy}{dt} + x = \sin t$.

The given equation can be written as

$$Dx - y = t \rightarrow (1)$$

$$x + Dy = \sin t \rightarrow (2)$$

$$(1) \times D \Rightarrow D^2x - Dy = D(t) = 1 \rightarrow (3)$$

$$x + Dy = \sin t \rightarrow (4)$$

$$(D^2 + 1)x = 1 + \sin t$$

The auxiliary equ is $m^2 + 1 = 0$
 $m^2 = -1$
 $m = \pm i$

Complementary function C.F = $A \cos t + B \sin t$

$$P.I = \frac{1}{D^2 + 1} (1 + \sin t)$$

$$= \frac{1}{D^2 + 1} (1) + \frac{1}{D^2 + 1} \sin t$$

$$D^2 \rightarrow -1$$

$$= \frac{1}{D^2 + 1} e^{0t} + \frac{1}{-1 + 1} \sin t$$

$$\frac{1}{D} (\sin t) = -\cos t$$

$$= \frac{1}{D} e^{0t} + \frac{1}{0} \sin t$$



SNS COLLEGE OF TECHNOLOGY

(An Autonomous Institution)

Approved by AICTE, New Delhi, Affiliated to Anna University, Chennai

Accredited by NAAC-UGC with 'A++' Grade (Cycle III) &

Accredited by NBA (B.E - CSE, EEE, ECE, Mech & B.Tech.IT)



$$= 1 + \frac{t}{2D} \sin t$$

$$= 1 + \frac{t}{2} \frac{1}{D} (\sin t)$$

$$= 1 + \frac{t}{2} (-\cos t)$$

$$P.I = 1 - \frac{t \cos t}{2}$$

~~Q.E.F~~ $x = C.F + P.I$

$$x = A \cos t + B \sin t - \frac{t \cos t}{2} + 1 \rightarrow (5)$$

$$\frac{dx}{dt} = -A \sin t + B \cos t - \frac{1}{2} (-t \sin t + \cos t)$$

$$= -A \sin t + B \cos t + \frac{t}{2} \sin t - \frac{1}{2} \cos t \rightarrow (6)$$

Sub (6) in (5), we get

$$y = Dx - t = \frac{dx}{dt} - t$$

$$y = -A \sin t + B \cos t + \frac{t}{2} \sin t - \frac{1}{2} \cos t - t$$

$$x = A \cos t + B \sin t - \frac{t \cos t}{2} + 1$$

2) Solve: $\frac{dx}{dt} - y = t$, $\frac{dy}{dt} + x = t^2$

Sol: The given equation can be written as

$$Dx - y = t \rightarrow (1)$$

$$x + Dy = t^2 \rightarrow (2)$$



SNS COLLEGE OF TECHNOLOGY

(An Autonomous Institution)

Approved by AICTE, New Delhi, Affiliated to Anna University, Chennai

Accredited by NAAC-UGC with 'A++' Grade (Cycle III) &

Accredited by NBA (B.E - CSE, EEE, ECE, Mech & B.Tech.IT)



$$\textcircled{1} \times D \Rightarrow D^2 x - Dy = D(t) = 1 \rightarrow \textcircled{3}$$

$$x + py = t^2 \rightarrow \textcircled{4}$$

$$\textcircled{3} + \textcircled{4} \Rightarrow (D^2 + 1)x = t^2 + 1$$

The auxiliary eqn is $m^2 + 1 = 0$

$$m^2 = -1$$

$$m = \pm i$$

$$C.F = A \cos t + B \sin t$$

$$P.I = \frac{1}{D^2 + 1} (t^2 + 1)$$

$$= (1 + D^2)^{-1} (t^2 + 1)$$

$$= [1 - D^2 + D^4 - \dots] (t^2 + 1)$$

$$= t^2 + 1 - 2$$

$$= t^2 - 1$$

$$x = C.F + P.I$$

$$= A \cos t + B \sin t + t^2 - 1 \rightarrow \textcircled{5}$$

$$\frac{dx}{dt} = -A \sin t + B \cos t + 2t \rightarrow \textcircled{6}$$

Sub $\textcircled{6}$ in $\textcircled{1}$, we get

$$y = \frac{dx}{dt} - t$$

$$y = -A \sin t + B \cos t + 2t - t$$

$$x = A \cos t + B \sin t + t^2 - 1$$



SNS COLLEGE OF TECHNOLOGY

(An Autonomous Institution)

Approved by AICTE, New Delhi, Affiliated to Anna University, Chennai

Accredited by NAAC-UGC with 'A++' Grade (Cycle III) &

Accredited by NBA (B.E - CSE, EEE, ECE, Mech & B.Tech.IT)



3) Solve: $3(1-D)x + 4y = 3t+1$, $3(D+1)y + 2x = e^t$

Sol.

$$3(1-D)x + 4y = 3t+1 \rightarrow (1)$$

$$2x + 3(D+1)y = e^t \rightarrow (2)$$

$$(1) \times 2 \rightarrow 6(1-D)x + 8y = 6t+2 \rightarrow (3)$$

$$(2) \times 3(1-D) \Rightarrow 6(1-D)x + 9(1-D^2)y = 3(1-D)e^t \rightarrow (4)$$

$$[8 - 9(1-D^2)]y = 6t+2 - 3e^t + 3e^t$$

$$= 6t+2$$

$$(8 - 9 + 9D^2)y = 6t+2$$

$$(9D^2 - 1)y = 6t+2 \rightarrow (5)$$

The auxiliary eqn is $9m^2 - 1 = 0$

$$9m^2 = 1$$

$$m^2 = \frac{1}{9}$$

$$m = \pm \frac{1}{3}$$

$$\text{C.F.} = Ae^{\frac{1}{3}t} + Be^{-\frac{1}{3}t}$$

$$\text{P.I.} = \frac{1}{9D^2 - 1} (6t+2)$$

$$= \frac{1}{1 - 9D^2} (6t+2)$$

$$= -(1 - 9D^2)^{-1} (6t+2)$$

$$= -(1 + 9D^2 + \dots) (6t+2)$$

$$= -(6t+2)$$



SNS COLLEGE OF TECHNOLOGY

(An Autonomous Institution)

Approved by AICTE, New Delhi, Affiliated to Anna University, Chennai

Accredited by NAAC-UGC with 'A++' Grade (Cycle III) &

Accredited by NBA (B.E - CSE, EEE, ECE, Mech & B.Tech.IT)



$$y = C.F + P.I$$

$$= Ae^{\frac{1}{3}t} + Be^{-\frac{1}{3}t} - (6t+2) \rightarrow (6)$$

$$\frac{dy}{dt} = \frac{A}{3}e^{\frac{1}{3}t} - \frac{B}{3}e^{-\frac{1}{3}t} - 6 \rightarrow (7)$$

$$2x = e^t - 3\frac{dy}{dt} - 3y \rightarrow (8)$$

$$x = \frac{1}{2} \left(e^t - 3 \left(\frac{A}{3}e^{\frac{1}{3}t} - \frac{B}{3}e^{-\frac{1}{3}t} - 6 \right) \right)$$

$$= \frac{1}{2} \left(e^t - 3 \left(Ae^{\frac{1}{3}t} + Be^{-\frac{1}{3}t} - 6t - 2 \right) \right)$$

$$= \frac{1}{2} \left(e^t - 4Ae^{\frac{1}{3}t} - 2Be^{-\frac{1}{3}t} - 18t + 24 \right)$$

$$x = \frac{e^t}{2} - 2Ae^{\frac{1}{3}t} - Be^{-\frac{1}{3}t} + 9t + 12$$

$$y = Ae^{\frac{1}{3}t} + Be^{-\frac{1}{3}t} - 6t + 2$$